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NEW QUESTION 1
Which one of the following code examples uses valid Java syntax?

AI‘
public class Boat {

public static void main (String [] args) {
System.out.println ("L f£loar.™):

}

B'I'
public class Cake {
public static void main (Straing [] ) {
System.out.println (“*Chocolate”) ;

¥

.
public class Dog {
public void main (String [] args) {

System.out.println (“Sguirrel.”):;
}

D.
public class Bank {
public static void main (String () args) {
System.out.println (“Earn interest.”):;
¥

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2
Given:

public =static void mainiStringl[] args) |

stiing ta = “"& "
ta = ta.concat ("B ") ;
String th = #C T

ta = ta.concat (th);

ta.replace(TC", TD");

ta = ta.concat (th);

System.out.printlnita) ;
1

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 3
Given the code fragment:
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public static woid main
int ans;

try {
int num = 10;
int div = 0;
ans = num / div;

(string[] args) {

r

} catch (ArithmeticException ae) |

ans = 0;

} catch (Exception =) {
System.out.println({"Invalid calculation™);

1

System.out.println("Answer = " 4+ ans);

}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {

public static void main{String[] args) {

int ans;

try {
int num = 10;
int diw 0
ans = num / diwv;

} catch (ArithmeticException ae) {

ans = 0

} catch (Exception e} {
Suatem.ont . nrintInt "Trwalid caleoculation”

[@variab.’;e ans might not have been initialized

(] System.out.println{"Answer

}

NEW QUESTION 4

You are asked to create a method that accepts an array of integers and returns the highest value from that array.

Given the code fragment:
class Test{

S/ line nl

S/ line n?Z

+ ans): /f/line nZ

public static void main(String[] args) {

int numbers([]
int[] keys =

/* line nl */ {
int[] keys =
/* code goes
return keys;

J

= {12, 13, 42, 32,

findMax (numbers) ;

new int[3]:
here*/

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 5
Given the content of three files:

Passing Certification Exams Made Easy

15, 156,

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-808 dumps
@ 2passeasy Do g

https://www.2passeasy.com/dumps/1z0-808/ (156 New Questions)

A java.

public class A {
public woid af() {}
int a;

B.java:

public class B |
private int doStuff () {
private int x = 100;
return x++;

C.java:

import java.io.*;
package pl;
class A {
public volid main(String fileName) throws IOException { }
}

Which statement is true?

A. Only the A.Java file compiles successfully.
B. Only the B.java file compiles successfully.
C. Only the C.java file compiles successfully.
D. The A.Java and B.java files compile successfully.
E. The B.java and C.java files compile successfully.
F. The A.Java and C.java files compile successfully.

Answer: A

NEW QUESTION 6
You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.
> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?

A
public abstract class Toy/{
public abstract int calculatePrice (Toy t);
public wvoid printTey (Toy t) | /* code goes here */ 1}
i
B
public abstract class Toy |
public int calculatePrice (Toy t)
public wveid peintToy (Tey t)
!
C
public abstract class Toy |
public int calculatePrice (Toy t):
public final veid printToy (Tey t)| /* code goes here */ |}
i
1]
public abstract class Toy
public abstract int calculatePrice(Toy t) { /* code goes here */ )
public abstract weold printToey(Tey t) { /* code goes here */ |}
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A
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NEW QUESTION 7

Given:
String stuff = "TV";
String res = null;

if (stuff.equals("TV")) {

res = "Walter":;
} else if (stuff.equals("Movie™))} {
res = "Wwhite";
} else |
res = "No Result";
}
Which code fragment can replace the if block?
A
stuff.equals (“TV") ? res= “Walter” : stuff.equals (“Movie”) 2
res = “White” : res = “No Result”;
B
res = stuff.equals (“"TV") ? “Walter"” else stuff.equals
(“Movie™)? “White” : “No Result”;
C
res = stuff.equals (“TV"”) ? stuff.equals (“Movie”)? “Walter” :
“White” : “No Result”;
D
res = stuff.equals (“IV"”)? “Walter” : stuff.equals (“Movie”)?
“White” : “No Result”;
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 8
Given the definitions of the MyString class and the Test class:
package pl:
class MyString {
String msg:;
MyString (String msg) {
this.msg = msg:;

Test.java:

package pl;
public class Test {
public static void main(String[] args) {
System.out.println("Hello " + new StringBuilder("Java SE 8")):
System.out.println("Hello " + new MyString("Java SE 8") .msqg):

}

What is the result?
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A
Hello Jawva SE 8
Hello Java SE O
B
Hello java.lang. 8tringBullder@<<hashcodel>>
Hello pl.MyString@<<hashcodel>>
C

Hello Java BE 8
Hello pl.MyStringl«<<hashcoder>

D Compilation fails at the Test class

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: D

NEW QUESTION 9
Given the code fragment:

LocalDate Time dt= LocalDateTime.of (2014, 7, 31, 1, 1):
dt.plusDays (30);

dt. plusMonths (1):

System.out.print (dt format (DateTimeFormatter. ISO_DATE) ):

What is the result?

A. An exception is thrown at runtim
B. 07-31-2014
C. 2014-07-31
D. 2014-09-30

Answer: A

NEW QUESTION 10
Given the code fragment:

int = = 100;

int a = z=++;
int b = ++=;
int <o = z:++;

int d = (a < k) 2 (a < c) ? a: (b <c 1? b: c: =
Svstem.out.printlnid) ;

What is the result?

A. 100
B. 101
C.102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 10

Which two are benefits of polymorphism? (Choose two.)
A. Faster code at runtime

B. More efficient code at runtime

C. More dynamic code at runtime

D. More flexible and reusable code

E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 15
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Which two class definitions fail to compile? (Choose two.)
A

abstract class A3 {
private static int 1i;
public wvoid doStuff() {}
public A3(){}

final class Al {
public Al () {}

private class A2 {
private static int 1i;
private A2 (){}

class Ad |
protected static final int 1
private R4 () {1}

Il
F_I
-
el

final abstract class AS {
protected static int i;
void destuff () {}
abstract wvoid dolIt();

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CD

NEW QUESTION 17
Given:
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public void test () {
System.out.printlin (“A"):

printin (“B"):

[—

public class C extends A |
public void test () {
System.out.println (“C"):

public static void main (String

A bl
A b2

new A ():
new C ()i

1]

L&

[] ar

WLl

bl = (A) bi: //1line nl
A b3 = (B) b2:; f/line n2

bl.test {});
b3.test ()

}

What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 19
Given the code fragment:

public static void main(Stringl]
ArrayList<Integer> points =
points.add(l)
points.add(2)
points.add(3)
points.add(d):
points.add(null):
points.remove(1l):
points.remove(null) :
System.out.println (points):

" -

-

}
What is the result?

A. A NullPointerException is thrown at runtim
B.[1, 2, 4]

C.[1, 2,4, null]

D. [1, 3, 4, null]

E.[1, 3, 4]

F. Compilation fails.

Answer: B

NEW QUESTION 23
Given the code fragment:
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public static voild main(Stringl] args) |
LAt G4l = 03
Znt AT = R
Fort (11 = Op 11 # 43+ L@ 34 = 34 & 23 o
gyeten. out . printifil “F * "y

'
What is the result?

A 24

B.0246

C.024

D. Compilation fails

Answer: C

NEW QUESTION 28
Given the code from the Greeting.Java file:

public class Greeting |
public static void mainiStringl[] args) |
System.out.println{"Hello " + args[0]1);

}

Which set of commands prints Hello Duke in the console?

&) javac Gresting
java Greeting Duke

~ B) javac Greeting.java Duke
java Greeting

~ Bl avad Bredting. java
java Greeting Duke

~ [0} javac Gresting. java
java Greeting.class Duke

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 31
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE

NEW QUESTION 34
This grid shows the state of a 2D array:

o o

X

The grid is created with this code:

char[][] grid = new char[3][3];
grid[1][1] = “X’;

grid[0] [0] = *0*;

grid[2][0] = “X’;

grid[0][1] = *0';

grid[2][2] = ‘X’;

grid[1][2] = *0;

{f/line ni

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?
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A. grid[2][1] = X;
B. grid[3][2] = X;
C. grid[3][1] = X7
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 37

Given the code fragment:

public static wvoid main(stringl] args)
LocalDate date = LocalDlate.of (2012, 1, 30);:
date.plushays (10) ;
System.out.println(date);

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.

Answer: B

Explanation:

Minjon B v java version “1.8.0.31"
Java(T) SE Runtime Environment (build 1.8.0.31-b13)

Java HotSpot(TW) 64-Bit Server W (build 25.31-b87, mixed mode)
» jovac -closspath . :/run_dir/junit-4,12, jar:/run_dir/hamcrest-
ore-1.3. jar:/run_dir/json-simple-1.1.1, jar -d . Main,jova

inport java.time.LocalDate;
1mport java. time.Month;

4 public class Main { » java -classpath . :/run_dir/junit-4.12. jar:/run_dir/hancrest-c
5  public static void main(Stringl] args) { re-1.3. jar:/run_dir/json-simple-1.1.1.jor Main

b Locallate date = LocalDate.of (2012, 1, 30); 2012-01-30

1 date.plusDays(10); I

System,out.println(date);

9 |}

14 ],

NEW QUESTION 38
Given:

class Patient |{
String name;
public Patient (String name) {
this.name = name;

And the code fragment:
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o

. public class Test |

g. public static void main (String [] args) |
10 List ps = new Arraylist ():

11 Patient p2 = new Patient (“Mike):

i 7.8 ps.add(p2) ;

13.

14, // insert code here

15.

16. if (£ >= 0) {

1V System.out.print (“Mike Found”):
18. }

19. }

20. }

Which code fragment, when inserted at line 14, enables the code to print Mike Found?
A

int £ = ps.index0f (pZ);

int f = ps.indexCf (Patient (“Mike”)} )

int £ = pe.index0f (new Patient “Mike") );

Patient p = new Patient ("Mike");
int £ = ps.index0f (p)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 42
Given:
interface Readable |
public void readBook () ;
public void setBookMark() ;
I

abstract class Book implements Readable | /4 line nl
public veoid readBook () { }
Lk dne

)

class EBook extends Book | A iime g
public veoid readBook () { 1}
/4 line nd

}

And given the code fragment: Book book1 = new EBook(); bookl.readBook();
Which option enables the code to compile?

&) Replace the code fragment at line nl with:
class Book implements Readable |

© B) At line n2 insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with:
abstract class EBook extends Book |

~ D) At line n4 insert:
public wvoid setBookMarki() { 1}
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 47
Given:

class Product
double price;

public class Test |
public wvoid updatePrice (Product product, double price)
price = price * 2;
product.price = product.price + price;

H
public static void main(String[] args) {

Product prt = new Product () ;
prt.price = 200;
double newPrice = 100;

Test £t = new Test () ;
t.updatePrice (prt, newPrice) ;
System.out.println (prt.price +

+ newPrice);

H

What is the result?

A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0 : 100.0
D. Compilation fails.

Answer: C

NEW QUESTION 52
Which three statements are true about exception handling? (Choose three.)

A. Only unchecked exceptions can be rethrown.

B. All subclasses of the RuntimeException class are not recoverable.

C. The parameter in a catch block is of Throwable type.

D. All subclasses of the RuntimeException class must be caught or declared to be thrown.
E. All subclasses of the RuntimeException class are unchecked exceptions.

F. All subclasses of the Error class are not recoverable.

Answer: BCD

NEW QUESTION 57
Given the code fragment:

abstract class Toy {
int price;
Jf line nl

'

Which three code fragments are valid at line n1?
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A
public static void insertTov ()
/* code goes here */
}
B
final Toy getToy() {
return new Toy():
}
C
public void printTov();
D
public i1nt calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 60
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Answer: B

NEW QUESTION 62
Given the code fragment:

abstract clas=z Planet |
protected void revolwe () | ffline nl
'

abstract vaid Fotate)s Jiling. nZ2

claz=e Earth extends=s Planet |
vold revolve () | Filing: nd
'

protected wvoid rotate () | filine nd
}
}

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD
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NEW QUESTION 66
Given the code fragment:

7. StringBuilder =hl = new StringBuilder ("Duke");
8. String strl = sbl.toString();

9, // insert code here

10. gyvstem.out.print (strl == =tr2);

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = strl;

B. String str2 = new String(strl);
C. String str2 = sbh1. toString();
D. String str2 = "Duke";

Answer: A

NEW QUESTION 68
Given the code fragment:

public static void main(String[] args)
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.out.println(date);

r

.
L

}
What is the result?
A. 2012-02-10
B. 2012-01-30

C. 2012-02-10 00:00
D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 70
Given:
public class Triangle {
static double area;
int b = 2, h = 3;
public static void main(String[] args) |

double p, b, h; //1line nl
if (area == 0) {
b = 3;
h = 4;
p = 0.5;
area = p * b * h; //1line n2
}
System.out.println("Area is " + area);

}
What is the result?
A. Areais 6.0
B. Areais 3.0
C. Compilation fails at line n1
D. Compilation fails at line n2.
Answer: D

NEW QUESTION 74
Given:
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class Test {

public static void main (String

int numbers [ ]:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4]:
numbers [2] = 30;

numbers [3] = 40;
for (int x : numbers) {
System.out.print ("

[—

What is the result?

A. 1020 3040

B.00 3040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 79
Given:

public clas=ss Test |

int x, v;

public Testiint =, int y) |

initializs(x, ¥y);

public void initialize(int =, int y) {
this.x = = * =;

thiz.y = y * y;

public static voilid main(String[] args)
int = = 3, v = 5;
Test cbj] = new Test(x, v);
System.cut.println{x + “ ™ + y);

}

What is the result?
A. Compilation fails.
B.35

C.00

D.925

Answer: B

NEW QUESTION 83
Given:
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public class Test
public static vold main(Stringl] args) |
Test t3 = new Tesat();
AL

) F

System.out.print (isAvailable + ™
iskvailakle= ts.doStuff();
System.out.println(ishvailable) ;

'

public static boolsan doStuff ()
return lisAvailakls;

'

static boolean ishvailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 86
Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function

B. Provides a set of standard exceptions that covers all possible errors

C. Improves the program structure because the programmer can choose where to handle exceptions
D. Improves the program structure because exceptions must be handled in the method in which they occurred
E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 90
Given this class:

public cla=s Bectangle
private doubles length;
private doubkle height;

private doubls ares;

public woid sstlength (double length) |
this.length = length;

}

public woid sstHeight (double height) |
this._height = height;

}

public woid ssthrea() |

arez = l=angth*height;

}

Which two changes would encapsulate this class and ensure that the area field is always equal to length * height whenever the Rectangle class is used?

A. Call the setArea method at the end of the setHeight method.

B. Call the setArea method at the beginning of the setHeight method.
C. Call the setArea method at the end of the setLength method.

D. Call the setArea method at the beginning of the setLength method.
E. Change the setArea method to private.

F. Change the area field to public.

Answer: AE

NEW QUESTION 95

Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 97
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Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.

E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 99
Given the code fragment:

int num=sl[] = {1, 2, 3};

int num=z2[] = {1, 2, 3, 4, 51:

nums 2 = nums 1;

for (int = : num=z2){
System.out.printix + ":");

i

What is the result?

A. 1:2:3:4:5:

B. 1:2:3:

C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.

Answer: A

NEW QUESTION 101
Given the code fragment:
if {avar++ < 100 ¢
System.out.printlniavar + "™ Hello Universel™);
}oelze
System.out.printlniavar + " Helloc Worldl™);:
1

What is the result if the integer avar is 9?

A. Compilation fails.
B. 10 Hello Universe!
C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 102
Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.

B. A public class must have a main method.

C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized before use.

F. Methods and fields are optional components of a class.

Answer: BDE

NEW QUESTION 106
Given:

public class App {

public static voild main(Stringl[] args) |

int 1 = 10;

int 3 = Z20;

int k =(3 += 1}/ 5;

System.cut.print{i + ™ : ™ + 3 + ™ : ™ + k};

}

What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A
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